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1.1
: RMNcHoz.ﬂr(

1.2

1.3
@

1500 700 10 900
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B (mm)

BL

(mm)

BR

(mm)

10000
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@

1.4

1.5

1.6
@
D

O
D

0.000 (m)

¢

:ock
1 ock
:ock
1 ock

S
1"

24
24
24

: SD345
: SD345

35.00

res - 35-00
(P peak — 50.00

(kN/m?)

24.500

9.800

18.000

19.000

18.000

19.000

18.000

19.000

0.16

0.16

(N/mm?)
(N/mm?)
(N/mm?)
(N/mm?)

(kN)

Rd

Rex

RD=Rd+Rex

RL

RH

1(

3000.000

0.000

3000.000

0.000

0.000

1+

3000.000

0.000

3000.000

0.000

0.000
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®
D

(kN)
Rd Rex RD=Rd+Rex RL RH
1+ 3000.000 0.000 3000.000 0.000 0.000
1( 3000.000 0.000 3000.000 0.000 0.000
1+ 3000.000 0.000 3000.000 0.000 0.000
1+ 3000.000 0.000 3000.000 0.000 0.000
2( 3000.000 0.000 3000.000 1000.000 0.000
2+ 3000.000 0.000 3000.000 1000.000 0.000
2+ 3000.000 0.000 3000.000 1000.000 0.000
2( 3000.000 0.000 3000.000 1000.000 0.000
2+ 3000.000 0.000 3000.000 1000.000 0.000
2+ 3000.000 0.000 3000.000 1000.000 0.000
1( ) 3000.000 0.000 3000.000 1500.000
1( ) 3000.000 0.000 3000.000 1500.000
2( ) 3000.000 0.000 3000.000 1500.000
2( ) 3000.000 0.000 3000.000 1500.000
Rd
Rex :
RD
RL
RH
1
(kN/m%) (KN/m?)
Qd Ql |a |b |c Qd Ql
1( 0.00 0.00 0.00 0.00
1+ 0.00 0.00 0.00 0.00
1+ 0.00 0.00 0.00 0.00
1( 0.00 0.00 0.00 0.00
1+ 0.00 0.00 0.00 0.00
1+ 0.00 0.00 0.00 0.00
2( 0.00 10.00 o |o 0.00 0.00
2+ 0.00 10.00 o |o 0.00 0.00
2+ 0.00 10.00 o |o 0.00 0.00
2( 0.00 10.00 o |o 0.00 0.00
2+ 0.00 10.00 o | o 0.00 0.00
2+ 0.00 10.00 o | o 0.00 0.00
1( ) 0.00 0.00
1( ) 0.00 0.00
2( ) 0.00 0.00

FORUMS8




*

®

(kN/m?) (kN/m?)
Qd Ql c Qd Ql
2( ) 0.00 0.00
F17998 - 9910179 S -
(a)ﬂﬂﬂﬁﬁﬁﬁbw‘:;ﬁ OMEEENLLHES (C){/i,*gﬂéﬁmfpf;ﬁ
(@) (x 109)
1( ) o 15.0
1+ ( 15 o 15.0
1+ ( -15 o 15.0
1( ) o 15.0
1+ ( 15 o 15.0
1+ ( -15 o 15.0
2( ) o 15.0
2+ ( 15 o 15.0
2+ ( -15 o 15.0
2( ) ° 15.0
2+ ( 15 o 15.0
2+ ( -15 o 15.0
1( ) ° 15.0
1( ) o 15.0
2( ) o 15.0
2( ) ° 15.0
1( )
1+ (
1+ (
1( )
1+ (
1+ (
2( )

FORUMS8




©)

1.7

2+ )
2+ )
2(
2+ )
2+ )

1( )

1( )

2( )

2( )

Hr (m) HF (m) Hi  (m)

1( 0.000 0.000 0.000
1+ ) 0.000 0.000 0.000
1+ ) 0.000 0.000 0.000
1( 3.000 3.000 1.000
1+ ) 3.000 3.000 1.000
1+ ) 3.000 3.000 1.000
2( 0.000 0.000 0.000
2+ ) 0.000 0.000 0.000
2+ ) 0.000 0.000 0.000
2( 3.000 3.000 1.000
2+ ) 3.000 3.000 1.000
2+ ) 3.000 3.000 1.000

1( ) 0.000 0.000 0.000

1( ) 3.000 3.000 1.000

2( ) 0.000 0.000 0.000

2( ) 3.000 3.000 1.000

)
11.667 11.667
0.000 0.000

FORUMS8




1
0.000 (m)
10.000 (m)
(kKN/m?) (
(m
0.000 15.000 0.251 0.251
0.000 15.000 0.354 0.21+0.90 Kh 0.354 0.21+0.90 Kh
€Y (
i) ( )
cos’*(p—0)
KA =

coszﬂcos(ﬂ+5)[ 1+J

sin{¢+0)sin(¢p—a) ’
cos(B+0)cos(B—-a)

cos”(35. 000-0. 000)

cos?0. 000 cos (0. 000+11. 667) [ 1+X/

0.251

2) (

KA:

COS2 (

d-6)

sin(35.000+11. 667) s in(35. 000~ (0. 000) )

coszﬂcos(6+6)[ 1+J

cos(B+0)cos(B—-a)

sin{¢+0)sin(¢p—a) ]2

cos”(35. 000-0. 000)

cos (0. 000+11. 667) cos (0. 000~ (0. 000) )

cos?0. 000 cos (0. 000+11. 667) [ 1+J

0.251

@ (

sin(35. 000+11. 667) sin(35. 000~ (0. 000) )

cos (0. 000+11. 667) cos (0. 000~ (0. 000) )

FORUMS8




D

1.8

1.9

1.9.1

1.9.2

€Y)

@

R 18+ ERFKEA

)

(

)

Hh 7R 3 18) HE REIKEA 7K SR EEkh DB %

KEA =0.21 + 0.90kh

(2)

(4

%)

|

0.0 1] 1 1 ] L) ] ]
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
K EE EE kh
(D IER R - [ oD 1 R - 18 1 R 25 (— W)
(& TEW 0 - i) R0 Hh B2 = 18) HE 2 5 (CR%)
(YW ER- ) ERoD Hh FEhes = 18) HE R 3%
(D) —REBIER 0 s =70.0°  —IRIFEREER 0 s = 48.0°
¢ 0 sl KEAL
©) 0 s2 KEAL
Ce (KN/m?) 0.000
tang . 0.600
G, B)
c (kN/m?) 1500.00
0] () 40.00
(m) (kN/m*)
( ) . o, v v HF(m)
1( ) 0.000 0.000 13.2000 13.2000 0.000
1( ) 0.000 0.000 13.2000 13.2000 3.000
2( ) 0.000 0.000 13.2000 13.2000 0.000

FORUMS8



(m) (KN/m)
D, o v v, HF(m)
2( ) 0.000 0.000 13.2000 13.2000 | 3.000
1( ) 0.000 0.000 13.2000 13.2000 | 0.000
1( ) 0.000 0.000 13.2000 13.2000 | 3.000
2( ) 0.000 0.000 13.2000 13.2000 | 0.000
2( ) 0.000 0.000 13.2000 13.2000 | 3.000
(m (m (m
tw tu t ta ta ta
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000

FORUMS8
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1.9.3
o

@

1.10

1.10.1

(M), D"¢ = tl+t2

Dr : (m)
Df t1+t2 Df = t1+t2+t3
D:
Y i (kN/m*)
Y1 =Y
:ylzysatl_yw
Y 2: (kN/m*)
DK EEE S & 0 ToRe
ytl ety t2 e toky t3 « t
v2 =
D:
2) IR RN DG S
(Yist=y) *twtyu s turyn s tatym e ts
v2 =
D:
KM RERBANDOEGE
(Vassmva) * b (Y pava) * taty e taty e ts
v2 =
D:
1) KRR BAN DG E
(V tlsat™ VY w) * t1+(V t2sat™ VY w) * t2+(’y t3sat™ VY w) * 1;iﬂu-'_’y 13 Ta
v2 =
D:
t,t, tu: (m), , ,t: = 3.000
Y o,y e C ). C  H&N/n)
Y u = 23.000, VY uswe = 23.000
t, G, (m, ’ ,t, = 0.000
Y 2,Y tst: C ). C  )(N/m?)
Y © = 23.000, V wsa = 23.000
t, e, s (m), , ,t; = 0.000
Y .Y st ( )> ( Y (kN/m?*)
Y & = 20.000, VY wse = 20.800
Y ol ( Y(kN/m*),y » = 9.800
a E (KN/m?)
196000.000 392000.000
x 10*  (N/mm?) 2.500
( - )/n 5.00
e: / B
(m) (kN/m?)
1( ) 1.00 1/6 1.5 3.0 2500.000

FORUMS8
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1.10.2
€Y

D

2)

e / B
) (kN/m?)
1( 1.00 1/6 1.5 3.0 2500.000
2( 1.00 1/6 1.5 3.0 2500.000
2( 1.00 1/6 1.5 3.0 2500.000
1( ) 1.50 1/3 1.2 2.0 3750.000
1( ) 1.50 1/3 1.2 2.0 3750.000
2( ) 1.50 1/3 1.2 2.0 3750.000
2( ) 1.50 1/3 1.2 2.0 3750.000
B (m)
€ (m), es=Ms/V
My : (kN.m)
v (kN)
(N/mm?)
O O s T a T =
1.00 8.000 180.000 0.230 | 1.700
1.50 12.000 300.000 0.350 | 2.550
(N/mm?)
O O s T a T = O Cha O Sha
1( 1.00 8.000 180.000 0.230 | 1.700 6.500 200.000
1+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
1+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
1( 1.00 8.000 180.000 0.230 | 1.700 6.500 200.000
1+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
1+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
2( 1.00 8.000 180.000 0.230 | 1.700 6.500 200.000
2+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
2+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
2( 1.00 8.000 180.000 0.230 | 1.700 6.500 200.000
2+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
2+ 1.15 9.200 207.000 0.260 | 1.960 7.480 230.000
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3)

4)

(N/mm?)

O c O s T a T = O Cha 0 Sha

1( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000

1( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000

2( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000

2( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000
(N/mm?)

O O s T a T =
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
1( ) .50 12.000 300.000 0.350 | 2.550
1( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550
(N/mm?)
O O s T a T =

1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700

FORUMS8
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(N/mm?)
Ow O« Ta T

2+ ) | 1.15 9.200 207.000 0.260 | 1.960
2+ ) | 1.15 9.200 207.000 0.260 | 1.960
2( 1.00 8.000 180.000 0.230 | 1.700
2+ ) | 1.15 9.200 207.000 0.260 | 1.960
2+ ) | 1.15 9.200 207.000 0.260 | 1.960

1( ) 1.50 12.000 300.000 0.350 | 2.550

1( ) 1.50 12.000 300.000 0.350 | 2.550

2( ) 1.50 12.000 300.000 0.350 | 2.550

2( ) 1.50 12.000 300.000 0.350 | 2.550

5)
(N/mm?)
0w o Ta T o
8.000 180.000 0.230 | 1.700
6)
(N/mm?)
0 0 a
8.000 180.000

Ta:
T -

FORUMS8
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2
2.1
¢h)
1)
H
5 11 10
2
6
2)
™ Vi Xi Vi Yi
x x Vi(ma) i vi 1 1 1 1
1 0.700x 3.000x 10.000 21.000 1.850 13.500 38.850 | 283.500
2 1.800x 7.700x 10.000 138.600 0.900 5.850 | 124.740 | 810.810
3 1.800x 0.500x 10.000 9.000 0.900 9.950 8.100 89.550
4 1/2x 1.500x 0.500x 10.000 3.750 2.300 10.033 8.625 37.625
5 3.300x 1.800x 10.000 59.400 1.650 11.100 98.010 | 659.340
6 13.100x 2.000x 10.000 262.000 6.550 1.000 | 1716.100 | 262.000
7 1.800x 7.700x 10.000 138.600 12.200 5.850 | 1690.920 | 810.810
8 1/2x 1.500x 0.500x 10.000 3.750 10.800 10.033 40.500 37.625
9 1.800x 0.500x 10.000 9.000 12.200 9.950 109.800 89.550
10 3.300x 1.800x 10.000 59.400 11.450 11.100 | 680.130 659.340
11 6.500x 1.800x 10.000 117.000 6.550 11.100 | 766.350 | 1298.700
> 821.500 5282.125 | 5038.851
X6 = = (Vi Xi)/Z Vi = 5282.125/ 821.500 =  6.430 (m)
Y6 = = (Vi Yi)/Z Vi = 5038.851/ 821.500 =  6.134 (m)
@
1)
J 1
/ﬁ

FORUMS8
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2)
™ Vi Xi Vi Yi
N N vi(m) b b i Xi i Vi
1 10.900x 3.000x 10.000 327.000 7.650 13.500 | 2501.550 | 4414.500
2 327.000 2501.551 | 4414 .500
X6 = £ (Vi Xi)/Z Vi = 2501.551/ 327.000 =  7.650 (m)
YG = X (Vi Yi)/X Vi = 4414.500/ 327.000 = 13.500 (m)
2.2 s ’ ,
@
W=y V= 24.500 x 821.500 = 20126.750 (kN)
X = 6.430 (m)
H=W kh = 20126.750 x 0.160 = 3220.280 (kN)
Y= 6.134 (m)
@ ,
W=Wu + Wl (kN)
Wu = Vu( ) v ( ) (kN)
WI = VI( ) vy sat( ) (kN)
X=Wu Xu+ WL XD/W (m)
H=W Kh (kN)
Y=Wu Yu+ W YD/W (M)
[11 1( )
1
(m) (m)
v(m) X Y vI(m) X1 Y1
( ) 327.000 7.650 13.500 0.000 0.000 0.000

(m
Vu(m) Xu Yu
( ) 327.000 7.650 13.500

Vu = V-Vl

Xu

vV X-VI XD/Vu

FORUMS8
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2.3

€Y
[1]

Yu= (V Y-VI YD/Vu

Wu = vuxy (kN) WI = VIx y sat (kN)
( ) | 327.000 x 18.000 = 5886.000 0.000 x 19.000 = 0.000
W H
Wu + WI (kN) X(m) W Kh (kN) Y(m)
( ) | 5886.000 + 0.000 = 5886.000 7.650 | 5886.000 x 0.16 = 941.760 13.500
2)
Hf = 3.000 (m)
Hr = 3.000 (m)
Pf = 29.400 (kN/m?)
Pr = 29.400 (kN/m?)

Pf+Pr .
U= —,— *Bj-Be = 3851.400 (kN)

( )

Pf+2 « Pr .
= ——+«Bj = 6. 550 (m)

3« (Pf+Pr)
Bj : Bj = 13.100 (m)
Bc : Bc = 10.000 (m)

1( )
Rv = 3000.000 (kN)

>
11

0.630 (m)
Mx = Rv X = 3000.000 0.630 = 1890.000 (KN.m)

RH = 1500.000 (kN)
Y = 12.000 (m)
My = RH Y = 1500.000 12.000 = 18000.000 (KN.m)

FORUMS8




- 17 -

2.4
@
y w(kN/m®) 9.800
Bc  (m) 10.000
hr — (m) 0.000
C (kN/m?) 0.000
@
[11 1(
. 000
/ﬁ é
= X 1
D
g (KN/m*) 0.000
HL  (m) | 12.000
H2  (m) 3.000
Hs (m) 3.000

FORUMS8
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2)
1
() HU(m) 15.000
() HL(m) 0.000
h1i(m) 12.000
h2(m) 3.000
hs(m) 3.000
hr(m) 0.000
) 8 0.000
) ) 0.000
( ) (kN/m') vy t 18.000
( ) y sat 19.000
X ) (m Xp 13.100
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
( ) KI2 0.35400
[1] () 0.000
[2] () 76.464
3] () 76.464
[4] ) 86.234
Pel = (1/2) ([11+[2]) h1 Bc 4587.840
Pe2 = (1/2) ([31+[4]) h2 Bc 2440.476
Pe = Pel+Pe2 7028.315
Peh = Pe cos(d +0 ) ( ) 7028.315
Pev = Pe sin(d +6 ) ( ) 0.000
Y1 = (2 [A+[2]D) hi/{3 ([11+[2])}+h2+HL+hr 7.000
Y2 = 2 [B1+[4D) h2/{3 ([31+[4])}+HL+hr 1.470
Y = (Pel Y1+Pe2 Y2)/Pe 5.080
X =Xp - Y tanb 13.100
Y (Pev *» X)
X=——— =10.000(m)
> Pev
Y (Peh + Y)
Y= ———— =15.080(m)
> Peh
Pv = XPev = 0. 000 (kN)
Ph = XPeh = 7028. 315 (kN)
(©)
[1] 1( )
h (m) 3.000 3.000
(kN/m?) [1Jyw h 29.400 29.400
&N) | Pw=(1/2) [1] h Bc 441.000 441.000
m | Yw=h/3 1.000 1.000

FORUMS8
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h (m 1.000
/) | [ yw h 9.800
() | Pw=(1/2) 11 h Bc ~9.800
m | Yw=hs3 2.333
2.5
€))
[1] 1( )
(kN.m)
Vi (kN Hi (kN) X (m) Yo m [ MeEVvi X [ MEHY
20126.750 | 3220.280 6.430 6.134 | 129412.078 | 19752.295
5886.000 | 941.760 7.650 13.500 | 45027.906 | 12713.761
3000.000 | 1500.000 0.630 12.000 |  1890.000 18000.000
931.000 | 148.960 6.550 2.500 | 6098.050 372.400
0.000 | 7028.315 0.000 5.080 0.000 35702.313
0.000 | 441.000 0.000 1.000 0.000 441.000
0.000 | -441.000 0.000 1.000 0.000 ~441.000
~3851.400 0.000 6.550 0.000 | -25226.674 0.000
26092.350 | 12839.315 157201.359 |  86540.773
( ; v, H, M
(kN) (kN) (kN-m)
1( ) 26092.350 | 12839.315 | -70660.586
@
Ve =V, KN
© Hy = H, (KN
M =V, Bj/2.0+M, (kN.m)
: B; = 13.100 (m)
( ) Ve He M
(kN (kN) (kN.m)
1( ) 26092.350 | 12839.315 | 100244.313

FORUMS8




- 20 -

2.6
2.6.1
_ M
€p VB
€s: (m
Ms: (kN.m)
Ve: (kN)
€. = B/n
€a: (m)
B : (m), B = 13.100
n:
(m
)
€ = MB/VB €.
1( ) 3.842 4.367
2.6.2
Hy = CeActVetano s
H. - (kN)
Co: (kN/m*), cs = 0.000
tang s : , tang ; = 0.600
A (), A. =L B.
Ve : (kN)
L : (m), L =10.000
e (m), B. = B-2es
(m), B = 13.100
€s: (m)
) e : A. Vs
(m (m () (kN)
1( ) 3.842 5.416 54.162 26092.350
fs = Hu/HB
T
Hs (kN)
) H, He
(KN) (KN) f f
1( ) 15655.410 | 12839.315 1.219 1.200

FORUMS8
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2.6.3
1 ( )
: _ Y B
gmin, gmax = B 1B
2) ( )
Vi
gmax = 2
* X

Ve X (kN)
M : (kN.m)
s : (m)
X (m), x = 3(B/2 - ey)

gmax: (kN/m?)

gmin: (kN/m?)
B : (m), B = 13.100
L : (m), L = 10.000

[11 1( )
26092. 350
(kN/n)
12,32 (m
X B gmin gmax
2708 | 8.842 8.124 0.000 642.329 3750.000
13. 100
2.6.4
@m (KN/m°)
( ) . o v, .. g=y Dr (KN/)
1( ) 0.000 0.000 13.200 13.200 0.000

FORUMS8
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Q= A+ o K'C'NC'SC+K,'q'Nq'Sq+é'vl'B'Be'Ny'Sy
Qu (kN)
C: (kN/m?*), ¢ = 1500.000
q: (kN/m?), q =y D
A >
Vi, Ve (kN/m?)
B. (m), B. = B-2e;
B : (m), B = 13.100
€5 (m)
D: : (m)
a, P: , 0 = 1+40.3B./L, B = 1-0.4B./L
B./L> 1 ,Be/L = 1
L : (m), L = 10.000
K , K = 1+0.3D"+/B.
D", (m)
Ne, Ng, Ny
(0} tan@
0 : ( ), o =40.00
Se, Sus Sy : , S. = 0.464
Se=(c'),S=@W@),s =@)
A,V, U:
A =-0.333, v =-0.333, y = -0.333
c':c =c/c 1 c’ 10
Co: 10 (kN/m*)
qg:q =09/q 1 q 10
oz 10 (KN/m?)
B": B" = B./B, 1 B
Bo: 1.0 (m)
tan@
¢ ) = H/Vs N, N, Ny B.(m) | A (M)
1( ) 0.492 |21.134 | 17.267 | 9.210 5.416 54.162
Q. = Qu/n
Vs : (kN)
He : (kN)
Qa
n
( ) K Q Ve Q
a B S, S, (kN) (kN) (kN)
1( ) 1.162 | 0.783 | 1.000 | 1.000| 0.569 934402.500 | 26092.350 467201.250

FORUMS8
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2.6.5

B A

ky :

Kvo:

Bv

a Eo :

> o m -

1.0

30cm
(kN/m*)

1
vo:_'OLEO

0.3
(m

Bv = yAv = {L - B = 11. 446

(kN/m?)
(m*)
(m), B =13.1
(m), L =10.0
(kN/m?*), E = 2.50x 10’
(m), h =2.00
(m, A =6.175
a - (A7 + €Y
A= ,
A + e

a =1.3
e = 0.000 (m)
A" = max(1,b) = 4.750
1 = 0.000 (m)
b =4.750 (m)

FORUMS8
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B—l
a (kN | k) KN/ ()
196000.000 | 653333.333 | 42559.745 | 0.158954
392000.000 | 1306666.667 | 85119.491 | 0.189030
@ ( - )/n
FH,
FH, (n), FH: = 2.000
FH, (n), FH, = 9.500/5.000 = 1.900
©)
LB A @
0.982 1.0
0.982 1.0 2.000  1.900 o @

FORUMS8
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2.7

2.7.1

€Y)

€)
[14]

1(

Wv

3627.225

Wh = Wv kh

580.356

Wx

2.474

Wy

1.544

B1
B2
B3
H m,
Bc

Pfu

3627.225 0.160

(B1+(B1+B2)) H/2 y Bc
(4.500+(4.500+0.870)) 3.000/2 24.500 10.000

(B1°/2 H+B2 H/2 (B1+B2/3)) y Bc/Wv
(4.500°/2 3.000+0.870 3.000/2 (4.500+0.870/3)) 24.500 10.000/3627.225

(B1+2 (B1+B2))/(B1+(B1+B2)) H/3
(4.500+2 (4.500+0.870))/(4.500+(4.500+0.870)) 3.000/3

(n), B1=4.500
(n), B2=0.870
(n), B3=0.500

m,

H = 3.000
Bc = 10.000

(KN/m?) ,y =24.500

Pru

006

008 "85

hf
hr

6.000 (m)
6.000 (m)

hfl= 3.000 (m)
hri= 3.000 (m)

hru = hfl-(hfl-hrl) (B1+B2-B3)/(Bo-B3)

= 3.000-(3.000-3.000) (4.500+0.870-0.500)/(13.600-0.500)

= 3.000 (m)

FORUMS8
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hrl = hf-(hf-hr) B1/Bo
= 6.000-(6.000-6.000) 4.500/13.600
= 6.000 (M)
Pf = hf y w = 58.800 (kN/m?)
Pr = hrl y w = 58.800 (kN/m?)
Pf+Pr
Pl = 5 < Bl « Bc = 2646. 000 (kN)
Pf+2Pr
= ————— Bl = 2.250(m)
3« (Pf+Pr)

Pfu= hfl B3 y w Bc = 147.000(kN)

xf = B3/2 = 0.250 (m)

Pru= (hfl+hru)/2 (B1+B2-B3) y w Bc = 1431.780(kN)

xr = B3+(hf1+2 hru)/(3 (hfl+hru)) (B1+B2-B3) = 2.935 (m)
Pri= (hrl+hru)/2 (B2) y w Bc = 383.670(kN)

xrl= Bl+(hrl+2 hru)/(3 (hrl+hru)) (B2) = 4.887 (m)

U=Pl + Prl - Pfu - Pru = 1450.890 (kN)

P1 - x1+Pr1 - xr1-Pfu » xf-Pru - xr

X = - =2.474 (m)
Bo (m), Bo=13.600
Bl (m), B1=4.500
B2 (m), B2=0.870
B3 (m), B3=0.500
Bc (m),Bc = 10.000
A (kN/m*), y w=9.800
2.7.2
[14] 1( )
() hfu (m) 3.000
) hfl (m 6.000
h m 3.000
(kN) | pf = (hfu+thfl)/2.0 h yw Bc -1323.000
m) | YFf = @hfu+hfl)/B(hfu+hfl)) h 1.333
() hru (m) 3.000
) hrl (m) 6.000
h m 3.000
(kN) | pr = (hru+hrl)/2.0 h yw Bc 1323.000
m) | Yr = Chruthr)/@Chruthrl)) h 1.333

FORUMS8
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2.7.3
[1] 1( )
KN/
“ @ N (KN) X (m)
642.329 |  257.293 21905.816 2.588
2.7.4
HO = N*/N H (kN)
HO (kN)
N (kN)
H (kN)
" (kN)
N H N Ho
(KN) (kN) (KN) (kN)
1( ) 26092.350 | 12839.315 | 21905.816 | 10779.239
2.7.5
@
[1] 1( )
(KN.m)
Vi (kN) Hi (kN) X (m) Yo [ MeE Ve X M= HOY
3627.225 | 580.356 2.474 1.544 | 8973.358 896.112
0.000 | -1323.000 0.000 1.333 0.000 ~1764.000
0.000 | 1323.000 0.000 1.333 0.000 1764.000
_1450.890 0.000 2.474 0.000 | -3589.343 0.000
21905.816 0.000 2.588 0.000 | 56683.684 0.000
0.000 | 10779.239 0.000 3.000 0.000 32337.718
24082.151 | 11359.595 62067.699 | 33233.830
( ; v, H, M
kN kN) (KN.m)
1( ) 24082.151 | 11359.595 | -28833.869

FORUMS8



- 28 -

@
D Ve =V, (kN)
D He = Ho (kN)
D Me = Vo Bi/2.0+M (kN.m)
: B; = 4.500 m
Vs Hs Ms
) N N (kN.m)
1( ) 24082.151 | 11359.595 25350.971
2.7.6
M
ey — VB
€s: (m)
Ms: (kN.m)
Ve: (kN)
€. = B/n
€.: (m
B : (m), B = 4.500
n:
(m)
)
€ = MB/VB €a
1( ) 1.053 1.500
2.7.7
Hu = CBAE+VBtaI’l(p B
H. : (kN)
Cs: (kN/m?), cs = 0.000
tang ; : , tang s = 0.600
A (), A. =L B.
Ve X (kN)
L (m), L = 10.000
e (m), B. = B-26;
(m), B = 4.500
€s: (m)

FORUMS8
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( ) e B. A. Ve
(m) (m () (kN)
1( ) 1.053 2.395 23.946 24082.150
fs = H/H:
f.
He - (kN)
) H, He
(KN) (KN) T T
1( ) 14449.291 | 11359.596 1.272 1.200
2.7.8
1) ( )
. _ Ve, B
Jqmin, gmax = B - LBZ
2) ( )
P
m =
dmax L-x
Ve: (kN)
My : (kN.m)
€s: (m)
X : (m), x = 3(B/2 - ey)
B
X B
gmax: (kN/m?)
gmin: (kN/m?)
B : (m), B = 4.500
L : (m), L = 10.000
(KN/m?)
) (m) -
X B gmin gmax
1( ) 3.592 0.000  1340.900 3750.000
2.7.9
(m) (kN/m®)
) . o " .| o D v
1( ) 3.000 3.000 13.200 13.200 39.600

FORUMS8
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Q= A+ o K'C'NC'SC+K,'q'Nq'Sq+é'vl'B'Be'Ny'Sy
Qu (kN)
C: (kN/m?*), ¢ = 1500.000
q: (kN/m?), q =y D
A >
Vi, Ve (kN/m?)
B. (m), B. = B-2e;
B : (m), B = 4.500
€5 (m)
D: : (m)
a, P: , 0 = 1+40.3B./L, B = 1-0.4B./L
B./L> 1 ,Be/L = 1
L : (m), L = 10.000
K , K = 1+0.3D"+/B.
D", (m)
Ne, Ng, Ny
(0} tan@
0 : ( ), o =40.00
Se, Sus Sy : , S. = 0.464
Se=(c'),S=@W@),s =@)
A,V, U:
A =-0.333, v =-0.333, y = -0.333
c':c =c/c 1 c’ 10
Co: 10 (kN/m*)
qg:q =09/q 1 q 10
oz 10 (KN/m?)
B": B" = B./B, 1 B
Bo: 1.0 (m)
tan@
¢ ) = H/Vs N, N, Ny B.(m) | A (M)
1( ) 0.472 | 22.394 | 18.396 | 10.264 2.395 23.946
Q. = Qu/n
Vs : (kN)
He : (kN)
Qa
n
( ) K Q Ve Q
a B S, S, (kN) (kN) (kN)
1( ) 1.072 | 0.904 | 1.376 | 0.632| 0.747 568381.625 | 24082.150 284190.813

FORUMS8
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3.1

3.1.1

T

3000

[ ,—|_| kpzz 13. 266 (kN)

700
P2l=  0.000 (kN)

[BA7 : mm]

KieT ath
= . {—h+(h+a)1og(—” = 107. 131
1. 375 a
K,\ * T 8+h
= '10g( ) = 50. 582 (kN)
1. 375 a
DT (kN.m)
T (kN)
, Kn=0.251
T (kN), T = 100.000
(m), h = 3.000
(m), a = 0.200

(kN. m)

FORUMS8
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@

®

3.1.2

€Y

P21,

1
Eh = E(P21+P22) -h = 19. 899 (kN)

P21 = g K. cos(B +d ) = 0.000 (kN/m?)
P22 = (gty h) K. cos(® +0 ) = 13.266 (kN/m?)
M. = Eh Ye = 19.899  (kN.m)

2 - P21+P22
Yo = ————""— +h = 1,000 (m)
3 - (P21+P22)

Eh : (kN)

h : (m), h = 3.000
Ki : , Ka = 0.251

P22: (kN/m?)

Me : (kN.m)

Ye : (m)

q : (kN/m*), g = 0.000

y : (kN/m*), y = 18.000

o : ( ), d =11.667
0 : ( ), 6 =0.000

M = M+M. = 107.131+19.899 = 127.030 (kN.m)
S = S,+Eh = 50.582+19.899 = 70.481  (KN)
T

= [BEAZ : mm]
E m|

FORUMS8
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(mm®), Z. = b h/6 = 81666.7x 10°

5.0

5.0

+n ¢

S

(x=d) -+ (h/2-d)

X

1
(cm) (cm’/ ) (cm®)
1 -
2 -
1 7.0 D22 3.871 4.00 15.484
ot
@
N
Mc = Zc (Obt+A_C)
M. (N.mm)
Z
O o (N/mm?), O o = 0.230 «°
0 « (N/mm?), O « = 24.000
N (N), N=0.0
Ac (mm?), A = b h = 700000.098
b (mm)
h (mm), h = 700.000
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm?)
15.484 215.951 > 156.284| 7.263
1.7
©)
)
2 2 *n ’ ’
X+ {As + (x—d’)+As - (x—d)}ZO. 0
L VxERDD,
M
[ ) ’
bex (h x , G=d) - (h/2-d)
o [——|+n * As’ -
2 (2 3) X
d-x
O — N Oc¢*

FORUMS8
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X (mm)
h (mm), h = 700.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As*® (mm?)
n , h=15.00
e (mm)
oc (N/mm?)
oS (N/mm?)
M (N.mm)
M x (N/mm?) (N/mm?)
(kN.m) (cm)
127.030 14.937 2.930 8.000 141.414 180.000
©)

Spo
Ty = = Tal

+d
T, (N/mm?)
Sh N)
d (mm)
b (mm)
T 4 (N/mm?)
Ta=C Cpt 14"
T a: (N/mmz)
Ce

d(mm) | 300 1,000 3,000 5,000 10,000

Ce 1.4 1.0 0.7 0.6 0.5

Cpt : Pt ( )

Pt(%) 0.1 0.2 0.3 0.5 |1.0

Cpt 0.7 0.9 1.0 1.2 1.5

(N/mnt)
Si(kN) d (em) T Ta T | Ce |Cpt
70.481 63.000 0.112 0.264 1.700 1.21]0.95

FORUMS8
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OO0 O
A A AN

+ 15
+ 16
+ 15
+ 16
+ 15

©
—
+ ++ 4+ ++

USRS MRS SRS ER S S S S S S S S S SRS S S S S
TAAd A A A A A A A A A AAAA A

++ 4+ +++ A+ o+

OCQOOMNSNMNMNMNMNOOVOOOOOEHNM
—

++++++++++++++++
DO IO

+++++++++++++++ A+
A A ANNN A A A NN N A NN

~r ~r ~r ~r

~AAAA

1+
1+

ANNNANNA
~ RN
o vV V V V
~
[N NN
[ = P
— — N <t —A N M <+
handt hah M M
@
(7} OO | OHNM | DO | 0O O
m A | Add | AN

CASE

FORUMS8
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4.2

€Y

(m (m (/m) (/m)
0.000 0.630 441.000 441.000
0.630 0.270 441.000 441.000
0.900 0.450 441.000 441.000
1.350 0.150 441.000 441.000
1.500 0.300 441.000 441.000
1.800 0.050 441.000 441.000
1.850 0.350 441.000 441.000
2.200 9.100 441.000 441.000

11.300 0.450 441.000 441.000

11.750 0.450 441.000 441.000

12.200 0.900 441.000 441.000
1.800 0.050 441.000 441.000
1.850 8.150 441.000 441.000
1.800 0.050 441.000 441.000
1.850 8.150 441.000 441.000
0.000 3.000 171.500 171.500
1.800 1.500 122.500 0.000
9.800 1.500 0.000 122.500

FORUMS8
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@

[1]

[2]

(m

(m

(kN/m)

(kN/m)

2.200

10.900

540.000

540.000

FORUMS8
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®

[2]

\
m (m (KN/m) (KN/m)
9.000 1.000 0.000 98.000
9.000 1.000 0.000 -98.000
9.000 1.000 0.000 -98.000
9.000 1.000 0.000 98.000
N=q L B
L
X = Lst+
2.0
q :
qd : )
ql : )
B : , B =10.000 (m)
Ls :
L

FORUMS8
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[1]

[2]

)
(kN) (kN) (KN.m)
0.000 3000.000 0.000
¢ D
€))
q Ls L N X
(kN/m?) (m) (m) (kN) m
ql(a) 10.000 1.500 11.600 1160.000 7.300
ql(b) 10.000 2.200 10.900 1090.000 7.650

FORUMS8
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(kN) (kN) (kN.m)
0.000 |  4000.000 0.000
@
m ) (kN/m) (kN/m)
0.000 0.000 70.000 0.000
2.200 10.900 |  100.000 100.000
(b)
0 0 (kN/m) (KN/m)
2.200 10.900 |  100.000 100.000

FORUMS8
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[3]
(KN) (kN) (kN.m)
0.000 | 3000.000 0.000
~1500.000 0.000 0.000
4.4
(€H)
y w(kN/m*) 9.800
10.000
Bc  (m) 10.000
hr  (m) 10.000
C (KN/m) 0.000

FORUMS8
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)
[1]  ):
ggﬁaﬁl
% 13. 546
/ﬁ
1)
q (kN/m?) 0.000
HL  (m) 3.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) o 11.667
« ) (kN/m*)  y t 18.000
« ) y sat 19.000
x ) Xp 2.200
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
() KI2 0.25085
[1] () 0.000
[2] () 13.546
[3] () 0.000
4] ) 0.000

FORUMS8
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. 13.546

/ﬁ =
X1
58. 699
1)
q (kN/m?) 0.000
HL  (m) 13.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 13.000
) HL(m) 0.000
h1(m) 10.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) ) 11.667
« ) (kN/m’) vyt 18.000
« ) y sat 19.000
& ) @ Xp 13.100
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
() K12 0.25085
[1] (@) 13.546
[2] () 58.699
[3] () 0.000
4] ) 0.000

FORUMS8
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m m (kN/m) (kN/m)
0.000 3.000 0.000 -132.660
0.000 3.000 0.000 27.392
0.000 10.000 | -132.660 -574.859
0.000 10.000 27.392 118.699
21 C):
Q00
%Eﬁaﬁl
% 13. 546
/ﬁ
1)
g (KN/m*) 0.000
HL  (m) 3.000
H2  (m) 0.000
Hs (m) 1.000

FORUMS8
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2)
1
(@) HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 1.000
hr(m) 0.000
) ] 0.000
) ) 11.667
¢ ) (kN/m*)  y t 18.000
C ) y sat 19.000
x ) Xp 2.200
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
D) K12 0.25085
[1] (@) 0.000
[2] () 13.546
3] (@) 0.000
4] ) 0.000
J _13. 546
/ﬁ
=—\ X f1
=—— 54,188
poRAYL
1)
g (kKN/m*) 0.000
HL  (m) 12.000
H2  (m) 1.000
Hs (m) 1.000

FORUMS8




- 46 -

2)
1
() HU(m) 13.000
() HL(m) 0.000
h1(m) 9.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
() 9 0.000
() 5 11.667
« ) KN/m) vyt 18.000
« ) y sat 19.000
x ) Xp 13.100
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
() K12 0.25085
[1] () 13.546
2] () 54.183
[3] () 54.183
[4] () 56.491
(m @m (kN/m) (kN/m)
0.000 3.000 0.000 -132.660
0.000 3.000 0.000 27.392
0.000 9.000 | -132.660 -530.639
0.000 9.000 27.392 109.568
9.000 1.000 -530.639 -553.241
9.000 1.000 109.568 114.235

FORUMS8
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[3] (
V élZ.Faﬁl
é 16. 054
/ﬁ
1)
q (kN/m?) 10.000
HL  (m) 3.000
H2  (m) 0.000
Hs  (m) 0.000
2)
1
() HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) ) 11.667
¢ ) (kN/m*)  yt 18.000
C ) y sat 19.000
x ) (m Xp 2.200
() Kul 0.25085
() K11 0.25085
() Ku2 0.25085
() K12 0.25085
[1] () 2.508
[2] () 16.054
3] () 0.000
4] ) 0.000

FORUMS8
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_16.054

/ﬁ
X1
61.207
1)
q (kN/m?) 10.000
HL  (m) 13.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 13.000
) HL(m) 0.000
h1(m) 10.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) ) 11.667
« ) (kN/m’) vyt 18.000
« ) y sat 19.000
& ) @ Xp 13.100
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
() K12 0.25085
[1] (@) 16.054
[2] () 61.207
[3] () 0.000
4] ) 0.000

FORUMS8
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m m (kN/m) (kN/m)
0.000 3.000 -24 567 -157.227
0.000 3.000 5.073 32.465
0.000 10.000 | -157.227 -599.426
0.000 10.000 32.465 123.772
[4]
50
EYE!
% 16. 054
/ﬁ
1)
g (KN/m*) 10.000
HL  (m) 3.000
H2  (m) 0.000
Hs (m) 1.000

FORUMS8
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2)
1
(@) HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 1.000
hr(m) 0.000
) ] 0.000
) ) 11.667
¢ ) (kN/m*)  y t 18.000
C ) y sat 19.000
x ) Xp 2.200
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
D) K12 0.25085
[1] ) 2.508
[2] () 16.054
3] (@) 0.000
4] ) 0.000
J _16.054
/ﬁ
X1
—
——— 56 693
PORRYO
1)
g (kKN/m*) 10.000
HL  (m) 12.000
H2  (m) 1.000
Hs (m) 1.000

FORUMS8
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2)
1
) HU(m) 13.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
) 0 0.000
) e} 11.667
( ) (kN/m*)  y t 18.000
( ) y sat 19.000
X ) (m Xp 13.100
) Kul 0.25085
) KI1 0.25085
() Ku2 0.25085
) KI2 0.25085
[1] () 16.054
[2] ) 56.692
[3] ) 56.692
[4] ) 59.000
m (m) (KN/m) (KN/m)
0.000 3.000 -24.567 -157.227
0.000 3.000 5.073 32.465
0.000 9.000 | -157.227 -555.206
0.000 9.000 32.465 114.641
9.000 1.000 | -555.206 -577.807
9.000 1.000 114.641 119.308

FORUMS8
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4.5
€Y
y w(kN/m®) 9.800
10.000
Bc  (m) 10.000
hr  (m) 10.000
C (KN/m) 0.000
@
[11 <e>
Q. 000
g X1
% 19.116
/ﬁ
1)
q (kKN/m*) 0.000
HL  (m) 3.000
H2  (m) 0.000
Hs  (m) 0.000

FORUMS8



- 53 -

2)
1
() HU(m) 3.000
() HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
() 5 0.000
( (kN/m) vyt 18.000
( y sat 19.000
x ) Xp 2.200
(@) Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
) K12 0.35400
[11 () 0.000
21 () 19.116
3] (@) 0.000
41 () 0.000
J = 19.116
/ﬁ %
X1
82.836
1)

g (kKN/m*) 0.000

HL  (m) 13.000

H2 () 0.000

Hs (m) 0.000

FORUMS8




- 54 -

2)
1
() HU(m) 13.000
) HL(m) 0.000
h1(m) 10.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) ) 0.000
« ) kN/m') vyt 18.000
( ) y sat 19.000
x ) @ Xp 13.100
() Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
) K12 0.35400
[1] () 19.116
[2] () 82.836
3] (@) 0.000
[41 () 0.000
m m (KN/m) (KN/m)
0.000 3.000 0.000 | -191.160
0.000 10.000 | -191.160 | -828.360

FORUMS8




- 55 -

[2] < >
J %IZF%
é 19.116
/ﬁ
1)
q (KN/m?) 0.000
HL  (m) 3.000
H2  (m) 0.000
Hs  (m) 1.000
2)
1
() HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 1.000
hr(m) 0.000
) 8 0.000
) ) 0.000
¢ ) (kN/m*)  yt 18.000
C ) y sat 19.000
x ) (m Xp 2.200
(@) Kul 0.35400
() K11 0.35400
() Ku2 0.35400
) K12 0.35400
[1] () 0.000
[2] () 19.116
3] () 0.000
4] ) 0.000

FORUMS8




- 56 -

19.116

J -
X1
\
1)

q (kN/m?) 0.000

HL  (m) 12.000

H2  (m) 1.000

Hs (m) 1.000

2)
1

() HU(m) 13.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
) ] 0.000
) ) 0.000
« ) (kN/m’) vyt 18.000
« ) y sat 19.000
& ) @ Xp 13.100
() Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
) K12 0.35400
[1] (@) 19.116
[2] () 76.464
[3] () 76.464
4] ) 79.721

FORUMS8




- 57 -

) ) (kN/m) (kN/m)
0.000 3.000 0.000 -191.160
0.000 9.000 | -191.160 -764.640
9.000 1.000 | -764.640 -797.208
[31
0000
ES
= 9. 558
T~
1
qekN/m) | 0.000
HL (m) | 3.000
H2  (@m) | 0.000
Hs  (m) | 0.000
0.500

FORUMS8



- B8 -

2)
1
() HU(m) 3.000
() HL(m) 0.000
hi(m) 3.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
() 0 0.000
) ) 0.000
( kN/m') vyt 18.000
( y sat 19.000
X ) (m Xp 2.200
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
( ) KI2 0.35400
[1] () 0.000
21 () 9.558
[3] () 0.000
[4] ) 0.000
J - 9. 558
/ﬁ é
% X1
\41.418
1)
g (kKN/m*) 0.000
HL  (m) 13.000
H2  (m) 0.000
Hs (m) 0.000
0.500

FORUMS8




- 59 -

2)
1
() HU(m) 13.000
) HL(m) 0.000
h1(m) 10.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) ) 0.000
« ) kN/m') vyt 18.000
( ) y sat 19.000
x ) @ Xp 13.100
() Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
) K12 0.35400
[1] (@) 9.558
[2] () 41.418
3] (@) 0.000
[41 () 0.000
m m (KN/m) (KN/m)
0.000 3.000 0.000 -95.580
0.000 10.000 | -95.580 | -414.180

FORUMS8




- 60 -

[4] <>
J X1
9. b58
/ﬁ
1)
q (kN/m?) 0.000
HL  (m) 3.000
H2 () 0.000
Hs  (m) 1.000
0.500
2)
1
(D) HU(m) 3.000
) HL(m) 0.000
h1(m) 3.000
h2(m) 0.000
hs(m) 1.000
hr(m) 0.000
) ] 0.000
) o 0.000
« ) (kN/m*)  y t 18.000
C ) y sat 19.000
x ) Xp 2.200
() Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
() KI2 0.35400
[1] (@) 0.000
[2] () 9.558
[3] () 0.000
4] ) 0.000

FORUMS8




- 61 -

__J 9. 558

% X1
w42
39. 360
q (kN/m?) 0.000
HL  (m) 12.000
H2  (m) 1.000
Hs (m) 1.000
0.500
1
() HU(m) 13.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
) ] 0.000
) ) 0.000
« ) (kN/m) vyt 18.000
«C ) y sat 19.000
x ) Xp 13.100
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
) K12 0.35400
() 9.558
() 38.232
() 38.232
) 39.860

FORUMS8




- 62 -

m ) (kN/m) (kN/m)
0.000 3.000 0.000 -95.580
0.000 9.000 | -95.580 | -382.320
9.000 1.000 | -382.320 | -398.604

4.6
[1]

)

-15.000
-15.000
-15.000

[2]

)

15.000
15.000
15.000

[3]

)

-15.000
-15.000
-15.000

FORUMS8



- 63 -

4.7

€Y

m ) (kN/m) (kN/m)
0.000 0.630 | -70.560 ~70.560
0.630 0.270 | -70.560 ~70.560
0.900 0.450 | -70.560 ~70.560
1.350 0.150 | -70.560 ~70.560
1.500 0.300 | -70.560 ~70.560
1.800 0.050 | -70.560 ~70.560
1.850 0.350 | -70.560 ~70.560
2.200 9.100 | -70.560 ~70.560

11.300 0.450 | -70.560 ~70.560

11.750 0.450 | -70.560 ~70.560

12.200 0.900 | -70.560 ~70.560
1.800 0.050 | -70.560 ~70.560
1.850 8.150 | -70.560 ~70.560
1.800 0.050 | -70.560 ~70.560
1.850 8.150 | -70.560 ~70.560
0.000 3.000 | -27.440 ~27.440
1.800 0.500 | -58.800 0.000
1.800 0.500 | -58.800 0.000

FORUMS8




- 64 -

)
[1] <> [2] <e>
(m) (m (kN/m) (kN/m)
0.000 3.000 | -313.920 -313.920
4.8
11 2 )2
D)
E G
£ E
3
; ;

8248. 18 (Mmax) 1\~

==

-3896. 49 (Mmin) 2

2 2097. 15 (Mmin)

3 8374. 36 (Mmax)

FORUMS8



- 65 -

2)

b Toa08. 75 (Snax)

ga;
-4-4629. 30 (Smin)

1490.14(Smém){ 850. 91 (Smax)

35 32565. 81 (Smin)
@
1 2 3

m 0.950 9.100 9.100

0.000

Mmax Mmin
KN.m 8248.177 -3896.493 -3896.493
kN 11024 .604 14618.753 14618.753
kN -1490.144 -1490.144 -1490.144
kN.m 824.818 -389.649 -389.649
kN 1102.460 1461.875 1461.875
kN -149.014 -149.014 -149.014
®
1 2 3 4
m 2.050 9.250 0.950 6.203
2.050 9.250
Mmax Mmin

kN.m -192.370 -4493.090 5401.161 -9513.224
kN 1217.454 1217.454 1217.454 1217.454
kN 4493.924 -3299.280 5539.875 0.000
kN.m -19.237 -449_309 540.116 -951.322
kN 121.745 121.745 121.745 121.745
kN 449392 -329.928 553.987 0.000

FORUMS8



- 66 -

®
1 2 3

m 9.100 3.773 9.100

0.000

Mmax Mmin

kN.m 8374.357 2097.152 8374.357
kN 10972.484 8093.384 10972.484
kN -2565.809 0.000 -2565.809
kN.m 837.436 209.715 837.436
kN 1097.248 809.338 1097.248
kN -256.581 0.000 -256.581

FORUMS8




- 67 -

[7] 2( )b
1
i ]
s £
3 3
§§ ®
NP 12
N :
I~ 4 2
8223. 44 (Mmax) 1\~
2 2090. 85 (Mmin)
-3887. 96 (Mmin) 3x 1 8389, 82 (Mmax)
2)
=
W]
I=| —
Z k=
[aN] g
= iz
4 ™
[
-+
[aN)
% i &
g i
1486.06(Sm$m){ \\\\\gL\i\‘846.83(SmaX)
3L 32569. 89 (Smin)
(€D)
1 2 3
m 0.950 9.100 9.100
0.000
Mmax Mmin
KN.m 8223.444 -3887.965 -3887.965
KN 10959.874 14554024 14554024
KN -1486.062 -1486.062 -1486.062
KN.m 822.344 -388.796 -388.796
KN 1095.987 1455402 1455402
kN -148.606 -148.606 -148.606

FORUMS8



- 68 -

®
1 2 3 4
m 2.050 9.250 0.950 6.207
2.050 9.250
Mmax Mmin
kN.m -165.286 -4503.960 5434.043 -9508.042
kN 1213.373 1213.373 1213.373 1213.373
kN 4499.196 -3294.009 5545.146 0.000
kN.m -16.529 -450.396 543.404 -950.804
kN 121.337 121.337 121.337 121.337
kN 449.920 -329.401 554.515 0.000
®
1 2 3

m 9.100 3.762 9.100

0.000

Mmax Mmin

kN.m 8389.819 2090.849 8389.819
kN 10967.213 8082.320 10967.213
kN -2569.890 0.000 -2569.890
kN.m 838.982 209.085 838.982
kN 1096.721 808.232 1096.721
kN -256.989 0.000 -256.989

FORUMS8




- 69 -

[10] 2( )a
1
i ]
= =
(a7} Lo
[aN]
Lo
! T
8248. 12 (Mmax) 14—+ L ~4 27
2 2097. 25 (Mmin)
-3896. 38 (Mmin) 3x 1 8370. 96 (Mmax)
2)
=
W]
I=| —
Z k=
< g
e~ iz
P
o
[aN)
Jd T g
g i
1490. 12 (Smin) [ {850, 89 (Smax)
3L 32555. 02 (Smin)
(€D)
1 2 3
m 0.950 9.100 9.100
0.000
Mmax Mmin
KN.m 8248.118 -3896.383 -3896.383
KN 11024.595 14618.744 14618.744
KN -1490.123 -1490.123 -1490.123
KN.m 824.812 -389.638 -389.638
KN 1102.459 1461.874 1461.874
kN -149.012 -149.012 -149.012

FORUMS8



- 70 -

®
1 2 3 4
m 2.050 9.250 0.950 6.203
2.050 9.250
Mmax Mmin
kN.m -192.431 -4493.089 5401.091 -9513.248
kN 1217.433 1217.433 1217.433 1217.433
kN 4493.916 -3299.289 5539.866 0.000
kN.m -19.243 -449_309 540.109 -951.325
kN 121.743 121.743 121.743 121.743
kN 449_392 -329.929 553.987 0.000
®
1 2 3

m 9.100 3.773 9.100

0.000

Mmax Mmin

kN.m 8370.962 2097.248 8370.962
kN 10970.261 8093.363 10970.261
kN -2555.021 0.000 -2555.021
kN.m 837.096 209.725 837.096
kN 1097.026 809.336 1097.026
kN -255.502 0.000 -255.502

FORUMS8




- 71 -

[12] 2+ ( )a
1)

B4166-64 (Mmax)

6663. 79 (Mmax) 1}-

616. 60 (Mmin) 3

2)

e 16908, 74 (Smax)

11808, 30 (Mmin)
D\O:

741. 99 (Sman) |

~--4629. 31 (Smin)

A

2 1775. 19 (Mmin)

3 12883. 94 (Mmax)

102. 76 (Smax)

3k 33303. 16 (Smin)
@
1 2 3

m 0.950 9.100 9.100

0.000

Mmax Mmin

KN.m 6663.794 616.599 616.599
kN 11024.595 14618.744 14618.744
kN -741.987 -741.987 -741.987
KN.m 666.379 61.660 61.660
kN 1102.459 1461.874 1461.874
kN -74.199 -74.199 -74.199

FORUMS8



- 72 -

®
1 2 3 4
m 2.050 9.250 0.950 6.203
2.050 9.250
Mmax Mmin
kN.m -2487.484 -6788.143 3106.037 -11808.302
kN 469.297 469.297 469.297 469.297
kN 4493.916 -3299.289 5539.866 0.000
kN.m -248.748 -678.814 310.604 -1180.830
kN 46.930 46.930 46.930 46.930
kN 449_392 -329.929 553.987 0.000
®
1 2 3

m 9.100 1.364 9.100

0.000

Mmax Mmin

kN.m 12883.943 1775.186 12883.943
kN 10970.261 6876.651 10970.261
kN -3303.156 0.000 -3303.156
kN.m 1288.394 177.519 1288.394
kN 1097.026 687.665 1097.026
kN -330.316 0.000 -330.316

FORUMS8




- 73 -

[13] 1( )
D

-#-10985. 31 (Mmin)

L Do

13256. 11 (Mmax) 1\~ <49 —5295. 95 (Mmin)

-14436. 76 (Mmin) 3 ——3 22216. 66 (Mmax)

2)

=

g

Z

D~

[aN]

S

[N

[ap)

P

3098. 68 (Smin) |- “L-1111. 81 (Smax)
3685. 65 (Smax}— 36333, 69 (Smin)
(€D)
1 2 3
m 0.950 9.100 9.100
0.000
Mmax Mmin

KN.m 13256.107 -14436.756 -14436.756
KN 11291.335 14885484 14885.484
KN -3098.677 -3685.648 -3685.648
KN.m 1325.611 -1443_676 -1443.676
KN 1129.133 1488.548 1488.548
KN -309.868 -368.565 -368.565

FORUMS8




- 74 -

®
1 2 3 4
m 2.050 9.250 0.950 8.122
2.050 9.250
Mmax Mmin
kN.m 7101.599 -10360.992 14255.596 -10985.311
kN 73.384 -434.647 151.000 -355.079
kN 5961.962 -1111.242 6932.912 0.000
kN.m 710.160 -1036.099 1425.560 -1098.531
kN 7.338 -43.465 15.100 -35.508
kN 596.196 -111.124 693.291 0.000
®
1 2 3

m 9.100 0.950 9.100

0.000

Mmax Mmin

kN.m 22216.656 -5295.953 22216.656
kN 7708.266 4114.116 7708.266
kN -6333.691 -1111.807 -6333.691
kN.m 2221.666 -529.595 2221.666
kN 770.827 411.412 770.827
kN -633.369 -111.181 -633.369

FORUMS8




- 75 -

4.9
4.9.1

FORUMS8




- 76 -

1 1: Mmax
m 0.950 0.950
2( )a 1( )
M kN.m 824.818 1325.611
N kN 1102.460 1129.133
S kN -149.014 -309.868
B mm 1000.0 1000.0
H mm 1800.0 1800.0
d mm 1700.0 1700.0
D22x 4.00=15.48 D22x 4.00=15.48
A cm? 15.48 15.48
A" cm? 0.00 0.00
cm? 15.48 15.48
Mx 1.7 kN_m 1402.190 2253.538
Mc kN.m 1364.124 1372.126
Amin cm? 10.89 7.43
o )
X mm 780.805 499.786
o N/mm* 3.037 5.817
O N/mm? 8.000 12.000
(] o
(o N/mm? 53.622 209.532
(o N/mm? 180.000 300.000
o o
T N/mm* —_—
Ta N/mm? _—
) C. -
Cuc .
C .

FORUMS8




- 77 -

2) 2: Mmin
m 9.100 9.100
2( )a 1( )
M kN.m -389.649 -1443.676
N kN 1461.875 1488.548
S kN -149.014 -368.565
B mm 1000.0 1000.0
H mm 1800.0 1800.0
d mm 1700.0 1700.0
As cm’ 0.00 0.00
D22x 4.00=15.48 D22x 4.00=15.48
A" cm? 15.48 15.48
cm? 15.48 15.48
Mx 1.7 kN_m 662.404 2454 .248
Mc kN.m 1471.948 1479.950
Amin cm? 14.44 9.80
() ()
X mm 1902.522 587.031
o . N/mm* 1.537 5.967
O N/mm? 8.000 12.000
(] o
(o N/mm? -2.455 169.685
(o N/mm? 180.000 300.000
o o
T N/mm* —_— —_—
Ta N/mm? _— _—
) C. - -
Cuc . .
C . .

FORUMS8




- 78 -

1
m 9.100 9.100
0.000 ) 0.000 )
2( )a 1( )
M kN.m -389.649 -1443.676
N kN 1461.875 1488.548
S kN -149.014 -368.565
B mm 1000.0 1000.0
H mm 1800.0 1800.0
d mm 1650.0 1650.0
As cm’ 0.00 0.00
D22x 4.00=15.48 D22x 4.00=15.48
A" cm? 15.48 15.48
cm? 15.48 15.48
Mx 1.7 kN_m 662.404 2454 .248
Mc kN.m 1471.948 1479.950
Amin cm? 14.44 9.80
) o
X mm 1900.644 573.806
o N/mm* 1.538 6.117
O N/mm? 8.000 12.000
(] o
o N/mm? -3.042 172.091
(o N/mm? 180.000 300.000
o o
T N/mm? 0.090 0.223
Ta N/mm? 0.285 0.284
C. 0.902 0.902
Cot 0.688 0.688
Cu 2.000 1.309

FORUMS8




- 79 -

4.9.2

FORUMS8




- 80 -

1
m 2.050 2.050
2.050 ) 2.050 )
2( )b 1( )

M kN.m -16.529 710.160

N kN 0.000 0.000

S kN 449.920 596.196

B mm 1000.0 1000.0

H mm 1800.0 1800.0

d mm 1700.0 1700.0

D22x 8.00=30.97

As cm’ 0.00 30.97

D35x 4.00=38.26
A" cm? 38.26 0.00
cm? 38.26 30.97
Mx 1.7 kN_m 28.099 1207.272

Mc kN.m 1033.386 1033.386

Amin cm? 5.00 17.77
o )

X mm 388.037 353.760
0. N/mm? 0.054 2.539
O N/mm? 8.000 12.000

(] o
o N/mm? 2.750 144.936
(o N/mm? 180.000 300.000
o o

T N/mm? 0.265 0.351

Ta N/mm? 0.190 0.271

C. 0.895 0.895

Cot 0.925 0.864

Cu 1.000 1.000

x x
S mm 250.000 250.000
As mm? 794400 794.400
s A mm? 118.562 76.621
T e N/mm? 1.700 2.550

FORUMS8




- 81 -

2)
m 9.250 9.250
9.250 ) | ( 9.250 )
2( )a 1( )

M kN.m -449.309 -1036.099

N kN 0.000 0.000

S kN -329.929 -111.124

B mm 1000.0 1000.0

H mm 1800.0 1800.0

d mm 1700.0 1700.0

As cm? 0.00 0.00

D35x 4.00=38.26 D35x 4.00=38.26

A" cm? 38.26 38.26

cm? 38.26 38.26
Mx 1.7 kN_m 763.825 1761.369

Mc kN.m 1033.386 1033.386

Amin cm? 5.00 17.77
o )

X mm 388.037 388.037
o . N/mm* 1.474 3.399
O N/mm? 8.000 12.000

(] o
(o N/mm? 74.763 172.403
(o N/mm? 180.000 300.000
o o

T N/mm? 0.194 0.065

Ta N/mm? 0.190 0.290

C. 0.895 0.895

Cot 0.925 0.925

Cu 1.000 1.000

X o
S mm 250.000 I
As mm? 794400 E—
s A mm? 5.826 —_—
T 2 N/mm? 1.700 —_—

FORUMS8




- 82 -

3) 3: Mmax
m 0.950
1( )
M kN.m 1425 .560
N kN 0.000
S kN 693.291
B mm 1000.0
H mm 1800.0
d mm 1700.0
D22x 8.00=30.97
A cm? 30.97
A" cm’? 0.00
cm’? 30.97
Mx 1.7 kN_m 2423.451
Mc kN.m 1033.386
Amin cm? 17.77
()
X mm 353.760
o N/mm? 5.097
0 N/mm? 12.000
(]
o N/mm? 290.941
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. E—
Cuc .
C .
s mm —_—
A mm? —_—
s A mm? —
T 2 N/mm? —_—

FORUMS8




- 83 -

4) 4: Mmin
m 6.203
2+ ( )a
M kN.m -1180.830
N kN 0.000
S kN 0.000
B mm 1000.0
H mm 1800.0
d mm 1700.0
A cm? 0.00
D35x 4.00=38.26
A" cm? 38.26
cm’? 38.26
Mx 1.7 kN_m 2007.412
Mc kN.m 1033.386
Amin cm? 17.77
()
X mm 388.037
o . N/mm* 3.874
0 N/mm? 9.200
(]
o N/mm? 196.486
(o8 N/mm? 207.000
o
T N/mm* —_—
T a N/mm? —_—
) C. -
Cuc .
C .

FORUMS8



- 84 -

4.9.3

FORUMS8




- 85 -

@ .
1 1: Mmax
m 9.100 9.100
2( )a 1( )
M kN_m 837.436 2221.666
N kN 1097.248 770.827
S kN -256.581 -633.369
B mm 1000.0 1000.0
H mm 1800.0 1800.0
d mm 1700.0 1700.0
As cm? 0.00 0.00
D35x 8.00=76.53 D35x 8.00=76.53
A" cm? 76.53 76.53
cm? 76.53 76.53
Mx 1.7 kN.m 1423.641 3776.832
Mc kN.m 1362.560 1264.634
Amin cm’? 10.84 10.30
o o
X mm 1048.465 639.160
(o N/mm? 2.423 5.973
O N/mm* 8.000 12.000
) )
o N/mm? 22.583 148.703
0 « N/mm? 180.000 300.000
) )
T N/mm? —_— —_—
T a N/mm? —_— —_—
) C. E— E—
Coe - -
C, - -

FORUMS8



- 86 -

2) 2: Mmin
m 0.950
1( )
M kN.m -529.595
N kN 411.412
S kN -111.181
B mm 1000.0
H mm 1800.0
d mm 1700.0
D16x 4.00= 7.94
A cm? 7.94
A" cm’? 0.00
cm’? 7.94
Mx 1.7 kN_m 900.312
Mc kN.m 1156.809
Amin cm? 5.00
()
X mm 361.993
o N/mm? 3.004
0 N/mm? 12.000
(]
(o N/mm? 166.556
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. -
Cuc .
C .

FORUMS8




- 87 -

1
m 9.100 9.100
( 0.000 ) 0.000 )
2( )a 1( )

M kN.m 837.436 2221.666

N kN 1097.248 770.827

S kN -256.581 -633.369

B mm 1000.0 1000.0

H mm 1800.0 1800.0

d mm 1700.0 1700.0

As cm’ 0.00 0.00

D35x 8.00=76.53 D35x 8.00=76.53

A" cm? 76.53 76.53

cm’? 76.53 76.53
Mx 1.7 kN_m 1423.641 3776.832

Mc kN.m 1362.560 1264.634

Amin cm? 10.84 10.30
o )

X mm 1048.465 639.160
o . N/mm* 2.423 5.973
O N/mm? 8.000 12.000

(] o
o N/mm? 22.583 148.703
(o N/mm? 180.000 300.000
o o

T N/mm? 0.151 0.373

Ta N/mm? 0.330 0.398

C. 0.895 0.895

Cot 1.150 1.150

Cu 1.393 1.104

FORUMS8




- 88 -

4.9.4
@
1 0 max
5 M
o ymax = R W
O (Max : (N/mm?*)
M, (N_.mm)
R (mm), R = 3075.916
R= a* + b’
a (mm), a = 2175.001
b (mm), b = 2175.000
W (mm), W = 1000.000
( ) Mo 0 «Mmax
(kN.m) (N/mm®)
2+ ( ) a| 695.475 0.368
2)
A = 2« M
R* 0
As (mm®)
Mo (N.mm)
R (mm), R = 3075.916
R’= a’ + b?
a (mm), a = 2175.001
b (mm), b = 2175.000
0 (N/mm?)
M, 0w As
( ) Ny | (vm) ()
2+ ( ) a| 695.475 207.000 2184.573

FORUMS8



- 89 -

OO0 O
A A AN

+ 15
+ 16
+ 15
+ 16
+ 15

©
—
+ ++ 4+ ++

USRS MRS SRS ER S S S S S S S S S SRS S S S S
TAAd A A A A A A A A A AAAA A

++ 4+ +++ A+ o+

OCQOOMNSNMNMNMNMNOOVOOOOOEHNM
—

++++++++++++++++
DO IO

+++++++++++++++ A+
A A ANNN A A A NN N A NN

~r ~r ~r ~r

~AAAA

1+
1+

ANNNANNA
~ RN
o vV V V V
~
[N NN
[ = P
— — N <t —A N M <+
handt hah M M
@
(7} OO | OHNM | DO | 0O O
m A | Add | AN

CASE

FORUMS8




- 90 -

5.2

€Y

(m (m (/m) (/m)
0.000 0.630 441.000 441.000
0.630 0.270 441.000 441.000
0.900 0.450 441.000 441.000
1.350 0.150 441.000 441.000
1.500 0.300 441.000 441.000
1.800 0.050 441.000 441.000
1.850 0.350 441.000 441.000
2.200 9.100 441.000 441.000

11.300 0.450 441.000 441.000

11.750 0.450 441.000 441.000

12.200 0.900 441.000 441.000
0.000 0.900 490.000 490.000
0.900 0.900 490.000 490.000
1.800 4.750 490.000 490.000
6.550 4.750 490.000 490.000

11.300 0.900 490.000 490.000

12.200 0.900 490.000 490.000
1.800 0.050 441.000 441.000
1.850 8.150 441.000 441.000
1.800 0.050 441.000 441.000
1.850 8.150 441.000 441.000
0.000 3.000 171.500 171.500
1.800 1.500 122.500 0.000
9.800 1.500 0.000 122.500

FORUMS8




- 901 -

@

[1]

[2]

(m

(m

(kN/m)

(kN/m)

2.200

10.900

540.000

540.000

FORUMS8




- 92 -

®

[2]

5.3

(m) (m) (kN/m) (kN/m)
1.800 9.500 98.000 98.000
0.000 13.100 -294.000 -294.000
9.000 3.000 0.000 294.000
9.000 3.000 0.000 -294.000
9.000 1.000 0.000 -98.000
9.000 1.000 0.000 98.000
=g L B
= Lst——
2.0
q :
qd : )
ql : )
B : , B =10.000 (m)
Ls :
L

FORUMS8




- 03 -

[1]

[2]

)
(kN) (kN) (kN_m)
0.000 3000.000 0.000
« )
q , Ls L N X
(kN/m*) (m) (m) (kN (m
ql(a) 10.000 1.500 11.600 1160.000 7.300
ql(b) 10.000 2.200 10.900 1090.000 7.650

FORUMS8




- 94 -

(kN) (kN) (kN.m)
0.000 |  4000.000 0.000
@
m ) (kN/m) (kN/m)
0.000 0.000 70.000 0.000
2.200 10.900 |  100.000 100.000
(b)
0 0 (kN/m) (KN/m)
2.200 10.900 |  100.000 100.000

FORUMS8



- 05 -

[3]
(kN) (kN) (kN_m)
0.000 3000.000 0.000
-1500.000 0.000 0.000
5.4
@
y w(kN/m*) 9.800
Bc (m) 10.000
hr  (m) 0.000
C (kN/m?) 0.000

FORUMS8



- 96 -

)
[1]  ):
J § . 000
% X1
% 67.729
1)
q (kN/m?) 0.000
HL  (m) 15.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 15.000
) HL(m) 0.000
h1(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) 9 11.667
¢ ) (kN/m*)  yt 18.000
C ) y sat 19.000
x ) (m Xp 13.100
() Kul 0.25085
() K11 0.25085
() Ku2 0.25085
() K12 0.25085
[1] () 0.000
[2] () 67.729
3] () 0.000
4] ) 0.000

FORUMS8




- 97 -

m m (kN/m) (kN/m)
0.000 3.000 0.000 -132.660
13.100 0.000 41.088 0.000
0.000 12.000 | -132.660 -663.299
13.100 0.000 986.114 0.000
21 C):
§.000
/ﬁ E
EE=N=an
E 54 183
E X1
E 61.107
1)
g (KN/m*) 0.000
HL  (m) 12.000
H2  (m) 3.000
Hs (m) 3.000

FORUMS8




- 08 -

2)
1
) HU(m) 15.000
) HL(m) 0.000
h1(m) 12.000
h2(m) 3.000
hs(m) 3.000
hr(m) 0.000
) 0 0.000
) e} 11.667
( ) (kN/m*)  y t 18.000
( ) y sat 19.000
X ) (m Xp 13.100
) Kul 0.25085
) KI1 0.25085
() Ku2 0.25085
) KI2 0.25085
[1] () 0.000
[2] ) 54.183
[3] ) 54.183
[4] ) 61.107
m m (kN/m) (kN/m)
0.000 3.000 0.000 -132.660
13.100 0.000 41.088 0.000
0.000 9.000 | -132.660 -530.639
9.000 3.000 | -530.639 -598.443
13.100 0.000 966.027 0.000

FORUMS8




- 99 -

[3] ( ):
/ﬁ
X1
70.238
1)
q (KN/m?) 10.000
HL  (m) 15.000
H2  (m) 0.000
Hs  (m) 0.000
2)
1
() HU(m) 15.000
) HL(m) 0.000
h1(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) e 0.000
) o 11.667
« ) (kN/m*)  y t 18.000
« ) y sat 19.000
x ) Xp 13.100
() Kul 0.25085
() KI1 0.25085
() Ku2 0.25085
() K12 0.25085
[1] (@) 2.508
[2] () 70.238
[3] () 0.000
4] ) 0.000

FORUMS8




- 100 -

@m (m (kN/m) (kN/m)
0.000 3.000 -24 567 -157.227
13.100 0.000 56.306 0.000
0.000 12.000 | -157.227 -687.866
13.100 0.000 | 1046.985 0.000
[4]
2. 508
:
T T~ é
el
=
E 56. 693
é ES
E 63.615
1)
g (KN/m*) 10.000
HL  (m) 12.000
H2  (m) 3.000
Hs (m) 3.000

FORUMS8




- 101 -

2)
1
) HU(m) 15.000
) HL(m) 0.000
h1(m) 12.000
h2(m) 3.000
hs(m) 3.000
hr(m) 0.000
) 0 0.000
) e} 11.667
( ) (kN/m*)  y t 18.000
( ) y sat 19.000
X ) (m Xp 13.100
) Kul 0.25085
) KI1 0.25085
() Ku2 0.25085
) KI2 0.25085
[1] ) 2.508
[2] ) 56.692
[3] ) 56.692
[4] ) 63.615
m m (kN/m) (kN/m)
0.000 3.000 -24.567 -157.227
13.100 0.000 56.306 0.000
0.000 9.000 | -157.227 -555.206
9.000 3.000 | -555.206 -623.010
13.100 0.000 | 1026.898 0.000

FORUMS8




- 102 -

95. 580

5.5
(€D)
y w(kN/m®) 9.800
Bc (m) 10.000
hr () 0.000
C (kN/m?) 0.000
@)
[11 : < >
J . 000
R
X1
1)
g (KN/m*) 0.000
HL  (m) 15.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
( HU(m) 15.000
( HL(m) 0.000
h1(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) ) 0.000
¢ ) (kN/m*) y t 18.000
«C ) y sat 19.000
x ) Xp 13.100
(@) Kul 0.35400
() K11 0.35400
() Ku2 0.35400
() K12 0.35400
[1] () 0.000
[2] (@) 95.580
3] () 0.000
4] ) 0.000

FORUMS8




- 103 -

m D) (kN/m) (kN/m)
0.000 3.000 0.000 -191.160
0.000 12.000 | -191.160 -955.800
[2]
0. 000
—  E
= X1
76: 464
|
! 86. 234
1)
q (kN/m?) 0.000
HL () | 12.000
H2  (m) 3.000
Hs  (m) 3.000

FORUMS8




- 104 -

2)
1
(@) HU(m) 15.000
) HL(m) 0.000
h1(m) 12.000
h2(m) 3.000
hs(m) 3.000
hr(m) 0.000
) 6 0.000
) o 0.000
¢ ) (kN/m*)  y t 18.000
C ) y sat 19.000
x ) Xp 13.100
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
() K12 0.35400
[1] () 0.000
[2] () 76.464
3] (@) 76.464
4] ) 86.234

m m (kN/m) (kN/m)
0.000 3.000 0.000 | -191.160
0.000 9.000 | -191.160 | -764.640
9.000 3.000 | -764.640 | -862.344

FORUMS8




- 105 -

[3] <L>
J % Q00
-
% X1
\\47. 790
1)
q (kN/m?) 0.000
HL  (m) 15.000
H2 () 0.000
Hs  (m) 0.000
0.500
2)
1
() HU(m) 15.000
) HL(m) 0.000
h1(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 6 0.000
) o 0.000
« ) kN/m') vyt 18.000
C ) y sat 19.000
x ) Xp 13.100
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
() KI2 0.35400
[1] (@) 0.000
[2] ) 47.790
3] (@) 0.000
4] ) 0.000

FORUMS8




- 106 -

m m (kN/m) (kN/m)
0.000 3.000 0.000 -95.580
0.000 12.000 -95.580 -477.900
[4] <L>
%}. Q00
_—  E
% X1
=R
| < R
“'43. 117
1)
q (kN/m?) 0.000
HL (m) | 12.000
H2 () 3.000
Hs  (m) 3.000
0.500

FORUMS8




- 107 -

2)
1
(@) HU(m) 15.000
) HL(m) 0.000
h1(m) 12.000
h2(m) 3.000
hs(m) 3.000
hr(m) 0.000
) 6 0.000
) o 0.000
¢ ) (kN/m*)  y t 18.000
C ) y sat 19.000
x ) Xp 13.100
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
() K12 0.35400
[1] () 0.000
[2] () 38.232
3] (@) 38.232
4] ) 43.117

m m (kN/m) (kN/m)
0.000 3.000 0.000 -95.580
0.000 9.000 | -95.580 | -382.320
9.000 3.000 | -382.320 | -431.172

FORUMS8




- 108 -

5.6
[1]
)
-15.000
-15.000
-15.000
[2]
)
15.000
15.000
15.000
[3]
()
-15.000
-15.000
-15.000
5.7
€Y

(m

(m

(kN/m)

(kN/m)

0.000

0.630

-70.560

-70.560

FORUMS8




- 109 -

&)
[1]

(m (m (kN/m) (kN/m)
0.630 0.270 | -70.560 -70.560
0.900 0.450 | -70.560 -70.560
1.350 0.150 -70.560 -70.560
1.500 0.300 -70.560 -70.560
1.800 0.050 | -70.560 -70.560
1.850 0.350 | -70.560 -70.560
2.200 9.100 | -70.560 -70.560

11.300 0.450 | -70.560 -70.560

11.750 0.450 -70.560 -70.560

12.200 0.900 -70.560 -70.560
0.000 0.900 -78.400 -78.400
0.900 0.900 | -78.400 -78.400
1.800 4.750 | -78.400 -78.400
6.550 4.750 | -78.400 -78.400

11.300 0.900 -78.400 -78.400

12.200 0.900 -78.400 -78.400
1.800 0.050 -70.560 -70.560
1.850 8.150 | -70.560 -70.560
1.800 0.050 | -70.560 -70.560
1.850 8.150 | -70.560 -70.560
0.000 3.000 -27.440 -27.440
1.800 0.500 -58.800 0.000
1.800 0.500 | -58.800 0.000

<> [2] <e>

(m (m (kN/m) (kN/m)
0.000 3.000 | -313.920 | -313.920

FORUMS8




- 110 -

®
[2]

[4]

(m

(m

(kN/m)

(kN/m)

9.000

1.000

-148.960

-148.960

FORUMS8




- 111 -

(kN/m)

148.960

(kN/m)

148.960

(m

1.000

m

9.000

5.8

)a

2(

[7]

D

/4, (Xewp) gG *L89¢

N

. (UTWR) 88 "0630E-

—t

2)

(UTWS) 8% '8986—

AN

FORUMS8



- 112 -

1 2 3 4
m 1.900 .400 10.400 4.067
1.900 .400
Mmax Mmin
kN.m -23365.160 -5655.708 3687.518 -30290.881
kN 1187.952 1187.952 1187.952 1187.952
kN -6020.509 8783.142 9868.479 -536.029
kN.m -2336.516 -565.571 368.752 -3029.088
kN 118.795 118.795 118.795 118.795
kN -602.051 878.314 986.848 -53.603

[8]

D

2)

2+

)a

1.

-35552. 00 (Mmin) -

DO

-1573. 60 (Mmax)

2.

8882. 81 (smax)xii

=

o
o

g
2
N
0
<
Io9)
©
0
T

FORUMS8




- 113 -

1 2 3 4
m 1.900 9.400 10.400 4.067
1.900 9.400
Mmax Mmin
kN.m -28626.277 -10916.825 -1573.599 -35551.996
kN 439.816 439.816 439.816 439.816
kN -6020.509 8783.142 9868.479 -536.029
kN.m -2862.628 -1091.682 -157.360 -3555.200
kN 43.982 43.982 43.982 43.982
kN -602.051 878.314 986.848 -53.603
[13] 1( )
1)
IZ: \\\i\i\
= 23
2 2
< =
= %
(o] —
OI’J >
=
[aN]
2)
[
4. 5
P
B
> £
g z
% e
N o~
[ap] .
Ios) =L
. ()
— [ d
[ap) D
© i
Lo

FORUMS8




- 114 -

1 2 3
m 1.900 .400 10.400 2.483
1.900 .400
Mmax Mmin
kN.m -32755.195 18356.635 27191.895 -32952.422
kN 2510.102 1922.101 1843.702 2464 .368
kN -1428.451 9080.266 8590.266 714.261
kN.m -3275.520 1835.663 2719.189 -3295.242
kN 251.010 192.210 184.370 246.437
kN -142.845 908.027 859.027 71.426
[14] 1( )
1
-
i 7
= 23
= =
©
& £
2 &
b =
I ©
b~
[aN]
2)
/Zf L= 2
[ g
IS \Z}
\(/3 —
> e
™ <
- X
& K
<

FORUMS8



- 115 -

1 2 3 4
m 1.900 9.400 10.400 1.900
1.900 9.400
Mmax Mmin
kN.m -31637.928 19403.535 27611.381 -31637.928
kN 2758.126 2170.126 2091.726 2758.126
kN -646.539 8354.851 8060.851 -646.539
kN.m -3163.793 1940.354 2761.138 -3163.793
kN 275.813 217.013 209.173 275.813
kN -64.654 835.485 806.085 -64.654
5.9
5.9.1
2

FORUMS8




- 116 -

@
D
m 1.900 1.900 1.900
( 1.900 ) 1.900 ) | ( 1.900 )
2( )a 2+ ( Ja 1( )
M kN_m -2336.516 -2862.628 -3275.520
N kN 0.000 0.000 0.000
S kN -602.051 -602.051 -142.845
B mm 1000.0 1000.0 1000.0
H mm 2000.0 2000.0 2000.0
d mm 1850.0 1850.0 1850.0
D41x 8.00=107.20 D41x 8.00=107.20 D41x 8.00=107.20
As cm? 107.20 107.20 107.20
A" cm’ 0.00 0.00 0.00
cm? 107.20 107.20 107.20
Mx 1.7 kN.m 3972.077 4866.468 5568.383
Mc kN.m 1275.785 1275.785 1275.785
Amin cm? 20.17 20.17 20.17
o o o
X mm 626.953 626.953 626.953
(o N/mm? 4.540 5.562 6.364
O N/mm* 8.000 9.200 12.000
) ) )
o N/mm? 132.842 162.754 186.229
0 « N/mm? 180.000 207.000 300.000
) ) o
T N/mm* 0.325 0.325 0.077
T a N/mm? 0.250 0.283 0.381
Ce 0.873 0.873 0.873
Coe 1.248 1.248 1.248
Cu 1.000 1.000 1.000
X X O
S mm 250.000 250.000 E—
A mm? 794400 794.400 E—
S A mm? 119.880 58.886 E—
T N/mm? 1.700 1.960 —_—
) ) e

FORUMS8




- 117 -

2)
m 9.400 9.400
9.400 ) 9.400 )
2( )a 1( )
M kN.m -565.571 1940.354
N kN 0.000 0.000
S kN 878.314 835.485
B mm 1000.0 1000.0
H mm 2000.0 2000.0
d mm 1850.0 1850.0
D41x 8.00=107.20
As cm’ 107.20 0.00
D32x 8.00=63.54
A" cm? 0.00 63.54
cm’? 107.20 63.54
Mx 1.7 kN_m 961.470 3298.601
Mc kN.m 1275.785 1275.785
Amin cm? 5.00 20.17
) o
X mm 626.953 506.104
0. N/mm? 1.099 4.560
O N/mm? 8.000 12.000
(] o
(o N/mm? 32.155 181.644
(o N/mm? 180.000 300.000
o o
T N/mm? 0.475 0.452
Ta N/mm? 0.250 0.319
C. 0.873 0.873
Cot 1.248 1.043
Cu 1.000 1.000
x x
S mm 250.000 250.000
As mm? 794400 794.400
S A mm? 358.396 127.433
T = N/mm? 1.700 2.550

FORUMS8




- 118 -

3) 3: Mmax
m 10.400
1( )
M kN.m 2761.138
N kN 0.000
S kN 806.085
B mm 1000.0
H mm 2000.0
d mm 1850.0
A cm? 0.00
D32x 8.00=63.54
A" cm? 63.54
cm’? 63.54
Mx 1.7 kN_m 4693.935
Mc kN.m 1275.785
Amin cm? 20.17
()
X mm 506.104
o N/mm* 6.490
0 N/mm? 12.000
(]
o N/mm? 258.481
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. E—
Cuc .
C .
s mm —_—
A mm? —_—
s A mm? —
T 2 N/mm? —_—

FORUMS8




- 119 -

4) 4: Mmin
m 4.067
2+ ( )a
M kN.m -3555.200
N kN 0.000
S kN -53.603
B mm 1000.0
H mm 2000.0
d mm 1850.0
D41x 8.00=107.20
A cm? 107.20
A" cm’? 0.00
cm’? 107.20
Mx 1.7 kN_m 6043.839
Mc kN.m 1275.785
Amin cm? 20.17
()
X mm 626.953
o N/mm? 6.908
0 N/mm? 9.200
(]
o N/mm? 202.130
(o8 N/mm? 207.000
o
T N/mm* —_—
T a N/mm? —_—
) C. -
Cuc .
C .

FORUMS8



- 120 -

5.9.2
@
1) O Mmax
5 M
o {max = RZ . W
O (Max : (N/mm?*)
M, (N_.mm)
R (mm), R = 2690.725
R= a* + b’
a (mm), a = 1800.000
b (mm), b = 2000.000
W (mm), W = 1000.000
( ) Mo 0 «Mmax
(kN.m) (N/mm®)
1( ) -2239.845
2)
A = 2 M
R* 0
As (mm®)
Mo (N.mm)
R (mm), R = 2690.725
R’= a’ + b?
a (mm), a = 1800.000
b (mm), b = 2000.000
0 (N/mm?)
M, 0w As
( ) Ny | (vm) ()
1( ) -2239.845 | 300.000
@
1) O Mmax
5 M
0 {max = RZ . W
O (Max : (N/mm?)
M, (N_.mm)
R (mm), R = 2690.725
R= a* + b?
a (mm), a = 1800.000
b (mm), b = 2000.000
W (mm), W = 1000.000

FORUMS8



- 121 -

) Mo 0 «max
(kN.m) (N/mm?)
1( ) 3478.677 2.402
2)
2+ M
A
R O s
As (mm?)
Mo (N.mm)
R (mm), R = 2690.725
R= a’ + b’
a (mm), a = 1800.000
b (mm), b = 2000.000
0w (N/mm?)
M, 0w As
) Ny | (/m) ()
1( ) 3478.677 300.000 8618.934
6
6.1
6.1.1
@
Mu = Ru bu = 78.362 (kN.m)
Ru = RetT/1.375 = 78.362 (kN)
1
R: = E « (W+W,+q) * L = 5.635 (kN)
Mu (kN.m)
Ru (kN)
bu (m), bu = 1.000
T T (kN), T = 100.000
R¢ g, Wi, W (kN)
W, (kN/m?), W, = 6.300
Wz (kN/mz), Wz = 9.800
q (kN/m*), g = 0.000
L L = a L0 =0.700
Lo : (m), LO = 1.000
o} = 0.700

FORUMS8
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®
. Ai Xi Al Xi
() (m
1.000 x  0.500 0.500 0.500 0.250
1/2 x 1.000 x 1.000 0.500 0.333 0.167
1.000 | —— 0.417
Rg=ZAi vy = 1.000 24.500 = 24.500 (kN)
Xg = X (A1 Xi)/Z A1 = 0.417/1.000 = 0.417 m
Mg = Rg Xg = 24.500 0.417 = 10.208 (kN.m)
®
M = Mu+Mg = 78.362+10.208 = 88.571 (kN.m)
S = Ru+Rg = 78.362+24.500 = 102.862 (kN)
6.1.2
@
+ m
1 g
[B{Z : mm]
T
(cm) @/ ) (cm’)
15.0 D16 1.986 4.00 7.944

FORUMS8
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@
e (o]
A,
M (N.mm)
Z. (mm°), Z. = b h/6 = 375000.0x 10°
O o (N/mm?), O w = 0.230 «°
O (N/mm?), o « = 24.000
N (N), N=0.0
A (mm*), A. = b h = 1500000.000
b (mm)
h (mm), h = 1500.000
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm®)
7.944 150.570 717.629| 5.000
1.7 5.0
= 5.0
©)
)
<2+ n {As’ « (x—d" )+As ¢ (x—d)}ZO. 0
X 0xZRD D,
~ M
T bex (b ox C Ged) - (h/2ed) (-d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 ) X X
d—x
O — Il O.:°
X
X (mm)
h (mm), h = 1500.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As*® (mm?)
n , h=15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)

FORUMS8
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M X (N/mm?) (N/mm?)
(kN.m) (cm)
88.571 16.791 0.816 8.000 86.154 180.000
®
Sy
Tha = ; T al
+d
T (N/mm?)
Sk Q)
d (mm)
b (mm)
T 4 (N/mm?)
Ta=C Cpt T a"
T a": (N/mmz)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt : Pt ( )
PL(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
102.862 135.000 0.076 0.135 1.700 0.95 | 0.62

FORUMS8
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6.2

6.2.1

M = MD+ML = 0.986+7.564 = 8.550 (kN.m/m)
1
MD = ;;(W1+W2+q) « L% = 0.986 (kN. m/m)
1 1 ,
ML = :[WL' L- (O.2+2d)—E;WL' 0. 2+2d) “! o
= 7.564 (kN.m/m)
MD: (kN.m/m)
ML: (kN_.m/m)
Wi: (kN/m?), W1 = 6.300
w2: (kKN/m*), W2 = 9.800
q (kN/m»), q = 0.000
d (m), d = 0.280
h (m), h = 0.400
L (m
L =1.000 0.700 = 0.700
wL: (kN/m?)
L I
(I)r ]r
' Q 45°57 N, & _ Q &
R~ m’ =]
! WJ ! W}
PEE R
0. 224 | L 275
2T« (1+1)
wl = = 124. 402
2.75 - (0. 2+2d)
T T (kN), T = 100.000
i , 1 =0.300
a , a =1.000

FORUMS8
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6.2.2
€Y

@

(mm) (mm) (cm’/ ) (cm?)
l - - N
2 - - N
1 150 250 D16 1.986 4.00 7.944
| — | — | —

h = 0.400 (m)
(N/mm?) (N/mm?)
oc O oS 0 =
1.133 < 8.000 47.217 < 180.000

FORUMS8
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